Lattice Multiplication (D)

14 x 94 =

97 x 88 =

69 x 18 =

99 x 72 =

Use lattice multiplication to find each product.

5 3 7 8 15
5 7
6 5 9
53 %56 = 78 xT5 = 15x19=__
8 9 308 18
7 8 9
6 5 2
89 x 76 = 38 x85= 18 x 92 =
6 0 4 9 40
3 1
4 7
60 x 34 = 49 x17=___ 40x22=__
2 2 72 9 8
8 2
2 6
22x 82 = 72 %26 = 98 x 61 =
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Lattice Multiplication (D) Answers

99 x 72 = 7.128

Use lattice multiplication to find each product.

6 6 3

89 x 76 = 6,764

6 0

1 0 3
2 8 0
2 0 4
0 4 0
4 0

60 x 34 = 2. 040

22 x 82 = 1,304

72 %26 = 1,872

1 5

0 0 1
0 1 5
0 4 9
2 9 5
8 5

15 x 19 =285

98 x 61 = 5,978
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